-- Row A
50/ 1000
dtugos¢ rowu L = 1452 mb

Profil podtuzny

96'S| BUp 21 01'9%) - ddNH
Why'o=H Wwe= T

9¢Z IN eymelseyz

0L'9¥L BUP 'ZI 0Ov¥'9¥) - ddNH
Wwoe0=H Sv="11

vZ IN eyMmelsez

GZ'9FL BUP Z) O¥'9bL - ddNH
WGL0=H We="

ZZ IN emelsez

G0'9¥L BUP ZI 0%‘9¥) - ddNH
GE'0=H Sv="

0Z IN e)ymelsez

Zv'ovL BUP ZI G6'OFL - ddNH
Weg0=H we=1

a1l IN emeisez

L¥'9vl BUP 'Z) G6°9¥) - ddNH
PE0=H G'¥="1

9] IN eymeiseyz

0€'9¥ ) BUP 'ZI G6'9¥L - ddNH
G9'0=H wWgy=1

Y1 IN eymelsez

ZL'9plL Bup 'zl G6'9Yl - ddNH
wego=H Wgy=1

¢l IN eymelsez

00'9%L BUP 'Z0  GB'OF) - ddNH
WGE0=H WGH=1

0l IN exmelsez

€€'OpL BUP 'ZI G6'9¥) - ddNH
2G0=H wg'y="

g IN BYMEeISEZ

GL'OpL BUP 'ZI G6'9¥) - ddNH
Wwog'0=H WGy=7

9 IN B)YMEe)SEeZ

€0'9¥L Bup ‘ZI 06'9¥) - ddNH
180=H wg'y="T

¥ IN eYMe)seZ

Z6'Gyl Bup 'ZI  06'9¥L - ddNH
Wwges'0=H WGy=7

Z IN e)melsez

G6'GiL BUP 'Z0 06'ObL - ddNH
WGE0=H Wo=T

L N Boid

skala 1

>
8
[0}
> _ & 2
2 >0 35
g 2 ¢ &
a = du. ‘O
o
C c = o
g 6 o 2
< 235 R
o
prd [
TT _
O
LLl |
- | _
©
™
05'ovL [ov'ovl [00°9vL [ov'ovl | 00'zSwL
ov'orl | 00 LbvL
N~
™
05'9vL og'ovL [e6°GrL [ov'ovL | 00'9zvL
o
o
<
+
<
©
™
09'9vL [ov'ovl [vL'ovL lov'ovl | 00'08EL
ov'ovl | 00'99€}
0
™
09'9vL [ov'ovL [Lo'9vL [ov'ovL | 00'oveL
<
™
09'971 |0g'avL |v0'9vL [0v'9rL | 00'0LEL |
(32]
+
<
™
™
_ 09'9vL [ov'ovL [sz'ovL [ov'ovl | 00°LLzh
o
| ™
| 09'9vL [ov'ovl [60°9vL [ov'ovL | 00'0eZL
-
| ™
[ oL'97L |or'evk [oL'evl [or'orL | 00'0LEl | g
N
| :
o
15}
0L'9vL [ov'ovl [so'ovL lov'ovl | 00'2ZLL
6E'OVL |OV'OVL m
06'ovL [08'ovL [0g'ovL | 00°0 | 00°'ZE4L
©
~N
0g'Ly) og'LyL [0g'2vL | 00°0 | 00'FLLL
o
o
=4
T
*
N~
o~
oLzl [ovzyl [oL'zvl | 00°0 | 00'680L
©
~
0g'ovl [0g'ovL [08'ovL | 00°0 | 00'890L
Te)
N
06°9v1 [06°9vL [06°9vL | 00°0 | 00'9%0L
<
N
og'Lv) og'LyL [og'2vL | 00°0 | 00'SZOL
06°9vL | 00°0 g
06'9vL [0L'LYL |Ly'9vL [S6'9YL | 00°LLOL | Q
o
¥
G6'9¥L | 00'¥00L @
N
N
06'9v1 08'9vL [vZ'ovL |S6'OVL | 00'.6
‘ el
G6'opL N
06'9v} 08'9vL [Lv'OvL |S8'ovL | 00226
|
|
S
Q@
o
o
Y
0g'ovl |06°9vL [05'9vL |S6'OVL | 00'v.8
G6'opL =2
06°9v1 |08'9vL [8Z'ovL |sg'ovl | 00'608 | S
P
o
©
~
06°9v1 [09°0vL [Z1'OvL |G6'OvL | 00°99L
N~
-~
06°9vL [ov'ovL [26'GYL |S6'OVL | 00°1EL
o
o
~
+
o
G6'opL ©
0L'9vL [0g'ovL [zL oyl |s8'ovl | 00'829
]
3Slw
¥ |
0L'9vL [ov'ovL [v6'SrL |S6'OvL | 00°€09 m
<
-~
0L'9vL |09'9vL [82'GYL |S6'OVL | 00'€65
S6'ovL
Gg'ovl | 00°095
™
~
06°9v1 |0G'2vL [9L'OpL |G6'OPL | 00225
o
o
Yol
+
o
o~
~
00°'LvL |00'8YL [vE'OVL |S6'OVL | 00'ELY
ge'ovL | 00'Z2v
-
A
00°LY) |02'2vL [e€'OpL |G6'OVL | 00'LLY
o
o
<
+
o
o
~
00°'Lv) |0g'LyL [0Z'OvL |G6'OvL | 00°'SLE
G6'opL
\ gg'orl | 00'vee
|
| o
I o0g'ovl [06'9vL [vL'ovL [06'9vL | 00'vzE
|
I
\
| o
o
| ™
3
\ -
__
_.
|
I
|
[
|
[
|
_ | ©
[ o0g'ovl [02'9vL [20'9vL |06'9vL | 00'992
|
I
|
I
06'9v 1
08'ovl | 00'L¥Z
N~
06°9v) [02°9vL [S0'OvL |06°0vL | 00222
o
o
N
+
o
©
06°9v1 [09°0vL [Z0'9vL |06°9vL | 0081
06'9v L 0
_ 06°9v1 |08'9vL [26°GYL [08'ovL | 00'€St
|
|
[
_ |
|
_ |
|
_ |
|
I
|
|l
o
| S|«
I 00'Lv1 |06°9vL [88'GYL 06°9vL | 00°S0L | &
|
[
\
I
_ |
|
_ |
|
_ |
|
_ |
|
[ ]
|
[ 1
|
[
|
_ | ™
| 00'2v) [0L'9vL [e8'srL [06'ovL | 00°'LY
68'0Y1
' ol'ovl | 00'0F
1 N
P 09'9v1 |0g'ovL [20°9vL |oL'ovL | o0'ee
|
L
|
P
b
|
3
[ 8
1/ =)
| ) , ) , S
{ 08'ov} |08'9vL [08'SYL 0L oYL -
000
=3
o
(=
£
- — | | | &
£ = m. m. o
a S c c Z
= E E | =
E|l € = = >
=l & | o o) a >
gl o | ®| @ | O i w
| ® w i} =
Jlo | = | Q2 g .
s3] 3 3| u
8 | w El B
8o ¥ -2 o < X g
o 3| 2 =2 = O — | W} 2
T &g 52| & E S| OB
g2¢ 2| x i < = O | 2
S SlKE | E B |R| g :
28 ¢ o e} 38
09 2| < < < < mm i 2%
as g| 2 Z Pl Z EX]
cmo 6| O a a a o (=2 gd
sss|lg| g g g g |3 it
v &l | 2@ | R |2 o |&| 28

WODNIK - Wiktor Zmierka

(=1
(=1
=~ | LS |z
. 5 = B
=
BEERE
W s
s2
a2 5| =8 23
£ | 22 | as
= © 2| 2 £2
o5 5| = m,.w
> > & &
2z Z| 28 Z8
£
N
<
ol I~ 2t
S| 2 i | s
> £ g
&9 5| B2 L
N ‘| m “ .m b1
5 = £z | 22
=2 % |3 52 | it
PN 2 g
28 2, z
ES |z |° g5 | s
= 2 g2 g E
=8 e - 27
Mm@ Ay
x
g s =
< e m
hd .8 | .y &
] 2| EE |5 2
. |2 |E|iR |52
& | By N
¥ = |Z| ES |E s
3 S |2z = ‘g
2 FRE= g S .m
& g2 3 zZ O
= = g £ S
p— (-] "




